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MODEL TEST ONE (120 minutes)

Part | Listening Comprehension (20 minutes)

Section A
Directions: In this section , you will hear 10 short conversa-
tions. At the end of each comversation, a question
will be asked about what was said. The conversa-
tion and the question will be spoken only once. Af-
ter each question there will be a pause. During the
pause , you must read the four choices marked A),
B), C) and D), and decide which is the best an-
swer. Then mark the corresponding letter on the
Answer Sheet with a single line through the centre.
Example: You will hear:
You will read :
A)At the office.
B)In the waiting room.
C)At the airport.
D)In a restaurant.
Sample Answer {#A-] [B] [C] [D]



1)

From the conversation we know that the two were
talking about some work they have to finish in the
evening . This is most likely to have taken place at
the office. Therefore, A) “At the office” is the
best answer. You should chovse answer [ A ] on the
Answer Shect and mark it with a single line

through the centre.

. A) It’s their {avorite kind.

B) Their father bought it.
C) She’s been working all day.
D) They won’t want to eat supper.

. A) Because they are alike.

B) Because the man’s briefcase has a lock.
C) Because the man’s briefcase is smaller.
D) Because she doesn’t have one.

. A) Go to a dance.

B) Go to the Student Center.

C) Go to a lecture.

D) Stay at home.

A) Apply for several universities now.

B) Make a decision before applying.

C) Decide on an order of preference.

D) Attend the university that accepts her first.
A) In a house in the city.

B) In an apartment in the city.

C) In an apartment on University Avenue.



D) At the university.
6. A) Teacher — Student C) Husband ~ Wife

B) Doctor — Patient D) Lawyer — Client
7. A) The man shouldn’t expect her to go along.

B) She doesn’t think she has enough money.

C) She’ll go even though the movie is bad.

D) The man should count the number of people going.
8. A) ln a library. C) In a hotel.

B) In a classroom. D) In a bookstore.
9. A) She is majoring in art history.

B) She isn’t taking the normal history course.

C) She likes having a change from maths.

D) She fell asleep in maths class.
10. A) He sells chairs. C) He's a gardener.

B) He fixes bicycles. D) He raises sheep.

Section B Compound Dictation

Directions: In this section, you will hear a passage three
times. When the passage is read for the first time ,
you should listen carefully for its general idea .
Then listen to the passage again. When the pas-
sage is read for the second time, you are required
to fill in the blanks numbered from S11 to S17
with the exact words you have just heard. For
blanks numbered from S18 to S20 you are re-

quired to fill in the missing information . You can



either use the exact words you have just heard or
write down the main points in wour own words.
Finally, when the passage is read for the third
time , you should check what you have written .
Newspapers
Who won the ball game? What (S11)
at the United Nations? How did the (S12)
like the new play? Minutes after an (s13) takes

place, newspapers are on the streets giving the (S14) i
. Wherever anything happens in the world, (S15)
are on the (S16) ___ to gather the

news. Newspapers have one (S17) purpose—to get
the news as quickly as possible from those who know it to those
who want to know it.

Radio, telegraph, television and other inventions brought
competition for newspapers. So did the development of maga-

zines and other means of communication. (S18)

Competition also led newspapers to branch out into many

other fields. ($19)

Newspapers are sold for prices that cover even a small {rac-
tion of the cost of production. (S20)




Part [l Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in this part. For
each sentence there are four chuices marked A),
B), C) and D). Choose the ONE answer that best
completes the sentence. Then mark the correspond-
ing letter on the Answer Sheet with a single line
through the centre. '

21.The man along with his two children _______ there watch-
ing TV every evening.
A) are sitting C) has sat
B) sits D) sat
22.We are asked  we think the result of the experiment
will be.
A) which C) that
B) what D) all that
23. “Is there anything wrong?”
“No. So farwe _____ o trouble.”
/\\) have had C) were having
B) have D) had
24.1 didn’t know what to do but then an idea suddenly
to me.
A) happened C) entered
B) took place D) occurred
25.With the ____ of old age, he could no longer do the work
well.



A) advance C) progress
B) promotion D) advantage
26. The bear,

and its young are left

land animal, is generally peaceable if it

A) a meat-eating,, undisturbed
B) a meat-eaten, undisturbing
C) a meat to be eaten, undisturbed
D) a eating meat, undisturbing

27.“Is the train leaving for New York?”

“No, itis _____ for Chicago.”
A) fit C) bound
B) going D) continual
28.1 have _____ a busy day.
A) fairly C) much
B) very D) rather
29.Tom’s health _ from overwork on the cotton planta-
tion.
A) broke down C) broke out
B) broke up D) broke away

30. A big tree was set up in the yard, and elaborate decorations

A) were hanged C) were hung
B) hanged D) was hanging
31. We couldn’t help some pride in her courage.
A) to feel C) feeling
B) to be feeling D) being felt



32

33.

34.

35.

36.

37.

38.

39

. Because of the Aleuts’ constant exposure to cold weather,

they have long recognized
A) and body needs to be fat

B) body needs the fat

C) how fat the body needs

D) the body’s need for {at

Computers have ______ great changes in our lives.

A) brought about C) resulted from

B) taken place D) caused in

Without your encouragement and support, we ___

A) could not succeed C) would not succeed

B) should have succeeded QJ),/\?vould not have succeeded
More often than ______ , she stays up till midnight.

A) not C) no

B) rarely D) less

Jack has never been on time, ?

A) hasn’t Jack C) has he

B) isn't it D) hasn’t it

The students their thanks to Professor Smith by
presenting him with a parting gift.

A) showed C) expressed

B) displayed D) revealed

It is perfect __~_ that he will win the election.

A) sure C) definite

B) right D) certain

.Don’t translate English idioms ____ . They make no

8



40.

4].

42,

43

44.

45.

46.

sense.

A) from word to word C) by a word

B) word for word D) in a word

He it but he forgot.

A) was to be doing C)was to have done

B) was to do D) was doing

Mr. Smith was worried about her daughter because no one
was aware _____-_ she had gone.

A) of the place which Q) of where

B) of the place where D) the place that

In his time he enjoyed a reputation

A) as great as Betoven, if not greater than
B) as great, if not greater, as Betoven

C) greater, if not as great as Betoven

D) as great as, if not greater than, Betoven

“The football match was ______ on account of rain.
A) called on C) called off

B) called up D) called for

The magnificent view of Niagara falls made me

A) catch cold C) catch my eye

B) catch my sight D) catch my breath
Youmust ______ at the airport one hour before your plane
takes off.

A) get in C) check in

B) give in D) check out

One often regrets ___ decisions.



A) hasty C) fast

B) quick D) rapid
47.The boy ______ the book so soon because it is difficult even
to an adult.

A) will not have finished to read
B) can’t have finished reading

C) mustn’t have finished to read
D) shall not have finished reading

48. “Shall T wake you up tomorrow?”“Yes,

A) please do C) you will
B) you shall D) you may
49. Does she say anything that ______ to you especially?
A) attract C) interest
B) appeal D) fancies
50.There was alot of _____in the city after the earthquake.
A) damage C) destroy
B) hurt D) harm
Part [l Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is
Jollowed by some questions or unfinished state-
ments. For each of them there are four choices
marked A), B), C) and D). You should decide
on the best choice and mark the corresponding letter
on the Answer Sheet with a single line through the
center .

10



Questions 51 to 55 are based on the following passage:

The ancient Greeks were much interested in speculating on
the nature of the world about them and consequently succeeded
in evolving many fascinating theories.

It was two Greek thinkers, Leucippus of Miletus and Der-
nocritus of Abdera, who first decided that substances could not
be broken up indefinitely, that eventually the particles obtained
would be so small they could be divided no farther. They con-
cluded that there were a number of varieties of such particles,
each making up a different substance; by combining them in
different ways, still other substances would result. The Greek
word for “indivisible” is atomos, so they named the theoretical-
ly indivisible particles atomns.

Their theory did not win favor among the Greeks, but it
was resurrected (# & ) in 1803 by the British chemist John
Dalton. He decided that the facts uncovered by the still new
science of chemistry could best be explained by supposing each
chemical element to be formed of tiny indivisible particles. Each
element thus had its own characteristic type of particle, and by
varying the manner of combination of these, all existing sub-
stances could be constructed. Following the old Greek theory,
Dalton called the particles atoms—and this time the atomic the-
ory met with approval.

In 1896 it was discovered that atoms are not indivisible,
that certain complicated atoms break up spontaneously, liberat-
ing particles far smaller than atoms. Then scientists learned

11



how to break up atoms in the laborartory. Today man’s whole
future hinges(PA++++- K ¥ %% ) upon the manner in which atoms
break up and fuse together. But still the name is atom—*"indi-
visible. ”
51. The selection shows that the ancient Greeks were interested
in the
A) origin of the world
B) nature of the universe
C) nature of the physical world
D) nature and origin of life
52. Their theories were probably the result of __
A) observation C) experimentation
B) speculation D) both A and B
53. Two Greek thinkers developed the idea of atoms from the
belief that .
A) only a limited number of substances exist
B) certain substances are indivisible
C) new substances can be constructed from existing ones
D) substances cannot be divided indefinitely
54. The two Greeks concluded that
A) only one type of indivisible particle exists

B) a number of types of indivisible particles exist
C) all substances are constructed from the same type of par-
ticle
D) both A and C
55. The Greeks named the particles atoms to indicate that they
12



